Pure Math 10

1.7 Sequences in Tables: Part I (HW p.54)


1.7 Sequences in Tables: Part I (p.46)

Goals: 
( Be able to calculate data in tables where the rows are related recursively and the closing balance increases


( Be able to write expressions to describe relationships in the table


( Be able to set up a spreadsheet to solve problems

( Find equations for chart (interest earned, closing balance, year, opening balance)


( Interest earned = 

( Closing balance =


( Year = 


( Opening balance = 

( Set up a spreadsheet for Investigate on p.46

Year
Opening balance ($)
Interest rate (%)
Interest earned ($)
Closing balance ($)

1
1000
6
60
1060

=A2+1
=E2
6
=B3*(C3/100)
=B3+D3

( To be able to see the headings, choose:  Format, Row Height, change to 50 pt, then go to Format, Alignment, and then click on Wrap
( Highlight the #3 on the left hand side, hold mouse down, slide to #6 so the four rows are highlighted

( Go to Calculate, and then Fill Down (this will copy the data from row 3 into rows 4 through 6)

( Change columns B, D, and F to currency format.  


Highlight column B, go to Format, Number, and then click the Currency button

( You should obtain the following table:

Year
Opening balance ($)
Interest rate (%)
Interest earned ($)
Closing balance ($)

1
$1000.00
6
$60.00
$1060.00

2
$1060.00
6
$63.60
$1123.60

3
$1123.60
6
$67.42
$1191.02

4
$1191.02
6
$71.46
$1262.48

5
$1262.48
6
$75.75
$1338.23

( Change the interest rate to 7%.  Your table should be as follows:

Year
Opening balance ($)
Interest rate (%)
Interest earned ($)
Closing balance ($)

1
$1000.00
7
$70.00
$1070.00

2
$1070.00
7
$74.9.
$1144.90

3
$1144.9.
7
$80.14
$1225.04

4
$1225.04
7
$85.75
$1310.80

5
$1310.80
7
$91.76
$1402.55

( Look at Investigate #1 on p.48.
( To create an Annual investment ($) column, click on column E of your previous spreadsheet, then go to Calculate, and then Insert cells.  Fill in 1000 for the annual investments and change the column to currency format.  Your table should look like this:

Year
Opening balance ($)
Interest rate (%)
Interest earned ($)
Annual investment ($)
Closing balance ($)

1
$1000.00
7
$70.00
$1000.00
$1070.00

2
$1070.00
7
$74.9.
$1000.00
$1144.9.

3
$1144.9.
7
$80.14
$1000.00
$1225.04

4
$1225.04
7
$85.75
$1000.00
$1310.80

5
$1310.80
7
$91.76
$1000.00
$1402.55


HW p.50


#1-4, 6   (you may use spreadsheets 


     to help you with these


     problems)








